

Banach J. Math. Anal. 5 (2011), no. 2, 33–43

 ${f B}$ anach ${f J}$ ournal of ${f M}$ athematical ${f A}$ nalysis

ISSN: 1735-8787 (electronic)

www.emis.de/journals/BJMA/

MULTIPLE HILBERT'S TYPE INEQUALITIES WITH A HOMOGENEOUS KERNEL

IVAN PERIĆ^{1*} AND PREDRAG VUKOVIĆ²

Communicated by L.-E. Persson

ABSTRACT. The main objective of this paper is a study of some new generalizations of Hilbert's and Hardy–Hilbert's type inequalities. We apply our general results to homogeneous functions. Also, we obtain the best possible constants when the parameters satisfy appropriate conditions.

1. Introduction

Hilbert's and Hardy-Hilbert's type inequalities (see [1]) are very significant weight inequalities which play an important role in many fields of mathematics. Similar inequalities, in operator form, appear in harmonic analysis where one investigates properties of boundedness of such operators. This is the reason why Hilbert's inequality is so popular and is of great interest to numerous mathematicians, since Hilbert till nowadays.

During the past century Hilbert-type inequalities were generalized in many different directions and also the numerous mathematicians reproved them using various technics. Some possibilities of generalizing such inequalities are, for example, various choices of non-negative measures, kernels, sets of integration, extension to multi-dimensional case etc. Several generalizations involve very important notions such as Hilbert's transform, Laplace transform, singular integrals, Weyl operators.

In this paper we refer to a paper of Bicheng Yang, [7], where Hilbert-type

Date: Received: 7 March 2010; Revised: 6 July 2010; Accepted: 9 December 2010.

^{*} Corresponding author.

²⁰¹⁰ Mathematics Subject Classification. Primary 26D15; Secondary 47A07.

Key words and phrases. Multilinear Hilbert's inequality, homogeneous kernel, the best possible constant, conjugate exponents.

inequality was obtained for conjugate parameters and kernel $K(x_1, ..., x_n) = (x_1 + ... + x_n)^{-s}$, s > 0. See also [6, 8] as illustrative papers for recent progress in studying Hilbert and Hardy–Hilbert type inequalities. However, we shall keep an attention on the result with a special homogeneous function of degree -s. Yang's result is contained in:

Theorem 1.1. If $n \in \mathbb{N} \setminus \{1\}$, $p_i > 1$, $\sum_{i=1}^n \frac{1}{p_i} = 1$, s > 0, $f_i : (0, \infty) \to \mathbb{R}$, $i = 1, \ldots, n$, non-negative functions which satisfy

$$0 < \int_0^\infty x^{p_i - s - 1} f_i^{p_i}(x) dx < \infty \quad (i = 1, 2, \dots, n), \tag{1.1}$$

then

$$\int_{(0,\infty)^n} \frac{\prod_{i=1}^n f_i(x_i)}{(\sum_{j=1}^n x_j)^s} dx_1 \dots dx_n$$

$$< \frac{1}{\Gamma(s)} \prod_{i=1}^n \Gamma\left(\frac{s}{p_i}\right) \left(\int_0^\infty x^{p_i - s - 1} f_i^{p_i}(x) dx\right)^{\frac{1}{p_i}},$$

where the constant factor $\frac{1}{\Gamma(s)} \prod_{i=1}^n \Gamma\left(\frac{s}{p_i}\right)$ is the best possible.

Our main objective is to emphasize the previous theorem. Our generalization will include a general homogeneous kernel which satisfies some special conditions. Also, applying our main results we shall obtain generalization of the following theorem (see [9]):

Theorem 1.2. Let $a \ge 0$, b > 0, and $T : L^2(0, \infty) \to L^2(0, \infty)$ be defined as follows:

$$(Tf)(y) := \int_0^\infty \frac{f(x)}{a \min\{x, y\} + b \max\{x, y\}} dx \quad (y \in (0, \infty)).$$

Then ||T|| = D(a,b), where

$$D(a,b) = \int_0^\infty \frac{\left(\frac{x}{y}\right)^{\frac{1}{2}}}{a\min\{x,y\} + b\max\{x,y\}} dy, \quad x \in (0,\infty),$$

and for any $f, g \in L^2(0, \infty)$, such that $0 < \int_0^\infty f^2(x) dx < \infty$, $0 < \int_0^\infty g^2(x) dx < \infty$, we have $(Tf, g) < D(a, b) \|f\| \|g\|$, i. e.

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{a\min\{x,y\} + b\max\{x,y\}} dxdy$$

$$< D(a,b) \left(\int_0^\infty f^2(x)dx\right)^{\frac{1}{2}} \left(\int_0^\infty g^2(x)dx\right)^{\frac{1}{2}}$$

where the constant factor D(a,b) is the best possible.

2. Some Lemmas

To prove our main results we need some lemmas.

Lemma 2.1. (see [5]) If $n \in \mathbb{N}$, $r_i > 0$, i = 1, ..., n, then

$$\int_{(0,\infty)^{n-1}} \frac{\prod_{i=1}^{n-1} u_i^{r_i-1}}{\left(1 + \sum_{i=1}^{n-1} u_i\right)^{\sum_{i=1}^n r_i}} du_1 \dots du_{n-1} = \frac{\prod_{i=1}^n \Gamma(r_i)}{\Gamma\left(\sum_{i=1}^n r_i\right)}.$$

By using Lemma 2.1 we have

Lemma 2.2. If $n \in \mathbb{N}$, s, $\lambda > 0$, $\beta_i > -1$, i = 1, ..., n-1, and $\sum_{i=1}^{n-1} \beta_i < \lambda s - n + 1$, then

$$\int_{(0,\infty)^{n-1}} \frac{\prod_{i=1}^{n-1} t_i^{\beta_i}}{\left(1 + \sum_{i=1}^{n-1} t_i^{\lambda}\right)^s} dt_1 \dots dt_{n-1}$$

$$= \frac{1}{\Gamma(s)\lambda^{n-1}} \left(\prod_{i=1}^{n-1} \Gamma\left(\frac{\beta_i + 1}{\lambda}\right)\right) \Gamma\left(s - \frac{1}{\lambda} \sum_{i=1}^{n-1} (\beta_i + 1)\right).$$

Proof. The proof follows directly from Lemma 2.1 using the substitution $u_i = t_i^{\lambda}$, $i = 1, \ldots, n-1$.

Lemma 2.3. Let s > 0, $a \ge 0$ and b > 0. Let α_1 , $\alpha_2 > -1$, $\alpha_1 + \alpha_2 < s - 2$ and

$$k(\alpha_1, \alpha_2) := \int_0^\infty \int_0^\infty \frac{t_1^{\alpha_1} t_2^{\alpha_2}}{(a \min\{1, t_1, t_2\} + b \max\{1, t_1, t_2\})^s} dt_1 dt_2.$$

Then

$$k(\alpha_{1}, \alpha_{2}) = \frac{b^{-s}}{(\alpha_{1} + 1)(\alpha_{2} + 1)} \sum_{i=1}^{2} F\left(s, \alpha_{i} + 1; \alpha_{i} + 2; -\frac{a}{b}\right)$$

$$- \frac{b^{-s}}{(\alpha_{1} + 1)(\alpha_{2} + 1)} F\left(s, \alpha_{1} + \alpha_{2} + 2; \alpha_{1} + \alpha_{2} + 3; -\frac{a}{b}\right)$$

$$+ b^{-s} \sum_{i=1}^{2} \left(\int_{0}^{1} t_{i}^{\alpha_{i}} F\left(s, s - \alpha_{i+1} - 1; s - \alpha_{i+1}; -\frac{a}{b} t_{i}\right) dt_{i}\right)$$

$$+ b^{-s} (\alpha_{1} + \alpha_{2} + 2) [(\alpha_{1} + 1)(\alpha_{2} + 1)(s - \alpha_{1} - \alpha_{2} - 1)]^{-1}$$

$$\times F\left(s, s - \alpha_{1} - \alpha_{2} - 2; s - \alpha_{1} - \alpha_{2} - 1; -\frac{a}{b}\right)$$

$$- b^{-s} \sum_{i=1}^{2} \frac{1}{(\alpha_{i} + 1)(s - \alpha_{i+1} - 1)} F\left(s, s - \alpha_{i+1} - 1; s - \alpha_{i+1}; -\frac{a}{b}\right)$$

where $F(\alpha, \beta; \gamma; z)$ denotes the hypergeometric function defined by

$$F(\alpha, \beta; \gamma; z) = \frac{\Gamma(\gamma)}{\Gamma(\beta)\Gamma(\gamma - \beta)} \int_0^1 t^{\beta - 1} (1 - t)^{\gamma - \beta - 1} (1 - zt)^{-\alpha} dt, \ \gamma > \beta > 0, z < 1$$

and the indices are taken modulo 2.

Proof. We start with the identity $k(\alpha_1, \alpha_2) = I_1 + I_2$, where

$$I_1 = \int_0^1 t_1^{\alpha_1} \left(\int_0^\infty \frac{t_2^{\alpha_2}}{(a\min\{t_1, t_2\} + b\max\{1, t_2\})^s} dt_2 \right) dt_1$$

and

$$I_2 = \int_1^\infty t_1^{\alpha_1} \left(\int_0^\infty \frac{t_2^{\alpha_2}}{(a \min\{1, t_2\} + b \max\{t_1, t_2\})^s} dt_2 \right) dt_1.$$

Here we used Fubini's theorem. In what follows we shall express the integral I_1 by a hypergeometric function. It is easy to see that holds the equality $I_1 = I_{11} + I_{12}$, where

$$I_{11} = \int_0^1 t_1^{\alpha_1} \left(\int_0^1 \frac{t_2^{\alpha_2}}{(a\min\{t_1, t_2\} + b)^s} dt_2 \right) dt_1$$

and

$$I_{12} = \int_0^1 t_1^{\alpha_1} \left(\int_1^\infty \frac{t_2^{\alpha_2}}{(at_1 + bt_2)^s} dt_2 \right) dt_1.$$

The integral I_{11} can be easily transformed in the following way

$$I_{11} = \int_0^1 t_1^{\alpha_1} \left(\int_0^{t_1} \frac{t_2^{\alpha_2}}{(at_2 + b)^s} dt_2 \right) dt_1 + \int_0^1 t_1^{\alpha_1} \left(\int_{t_1}^1 \frac{t_2^{\alpha_2}}{(at_1 + b)^s} dt_2 \right) dt_1. \tag{2.2}$$

By applying classical real analysis we have

$$\int_{0}^{1} t_{1}^{\alpha_{1}} \left(\int_{0}^{t_{1}} \frac{t_{2}^{\alpha_{2}}}{(at_{2} + b)^{s}} dt_{2} \right) dt_{1}$$

$$= \int_{0}^{1} t_{2}^{\alpha_{2}} \left(\int_{t_{2}}^{1} \frac{t_{1}^{\alpha_{1}}}{(at_{2} + b)^{s}} dt_{1} \right) dt_{2}$$

$$= \int_{0}^{1} t_{2}^{\alpha_{2}} (at_{2} + b)^{-s} \left(\int_{t_{2}}^{1} t_{1}^{\alpha_{1}} dt_{1} \right) dt_{2}$$

$$= \frac{b^{-s}}{\alpha_{1} + 1} \int_{0}^{1} t_{2}^{\alpha_{2}} (1 - t_{2}^{\alpha_{1} + 1}) \left(1 + \frac{a}{b} t_{2} \right)^{-s} dt_{2}$$

$$= \frac{b^{-s}}{\alpha_{1} + 1} \left[\frac{1}{\alpha_{2} + 1} F\left(s, \alpha_{2} + 1; \alpha_{2} + 2; -\frac{a}{b} \right) \right]$$

$$- \frac{1}{\alpha_{1} + \alpha_{2} + 2} F\left(s, \alpha_{1} + \alpha_{2} + 2; \alpha_{1} + \alpha_{2} + 3; -\frac{a}{b} \right) \right],$$
(2.3)

and similarly

$$\int_{0}^{1} t_{1}^{\alpha_{1}} \left(\int_{t_{1}}^{1} \frac{t_{2}^{\alpha_{2}}}{(at_{1} + b)^{s}} dt_{2} \right) dt_{1}$$

$$= \frac{b^{-s}}{\alpha_{2} + 1} \left[\frac{1}{\alpha_{1} + 1} F\left(s, \alpha_{1} + 1; \alpha_{1} + 2; -\frac{a}{b}\right) \right]$$

$$- \frac{1}{\alpha_{1} + \alpha_{2} + 2} F\left(s, \alpha_{1} + \alpha_{2} + 2; \alpha_{1} + \alpha_{2} + 3; -\frac{a}{b}\right) .$$
(2.4)

Now, we substitute (2.3), (2.4) in (2.2), and we have

$$I_{11} = \frac{b^{-s}}{(\alpha_1 + 1)(\alpha_2 + 1)} \sum_{i=1}^{2} F\left(s, \alpha_i + 1; \alpha_i + 2; -\frac{a}{b}\right)$$

$$-\frac{b^{-s}}{(\alpha_1 + 1)(\alpha_2 + 1)} F\left(s, \alpha_1 + \alpha_2 + 2; \alpha_1 + \alpha_2 + 3; -\frac{a}{b}\right).$$
(2.5)

By using the substitution $u = 1/t_2$, we find

$$I_{12} = \int_{0}^{1} t_{1}^{\alpha_{1}} \left(\int_{1}^{\infty} \frac{t_{2}^{\alpha_{2}}}{(at_{1} + bt_{2})^{s}} dt_{2} \right) dt_{1}$$

$$= b^{-s} \int_{0}^{1} t_{1}^{\alpha_{1}} \left(\int_{0}^{1} u^{s - \alpha_{2} - 2} \left(1 + \frac{a}{b} t_{1} u \right)^{-s} du \right) dt_{1}$$

$$= b^{-s} \int_{0}^{1} t_{1}^{\alpha_{1}} F\left(s, s - \alpha_{2} - 1; s - \alpha_{2}; -\frac{a}{b} t_{1} \right) dt_{1}.$$
(2.6)

From (2.5) and (2.6) we get

$$I_{1} = I_{11} + I_{12}$$

$$= \frac{b^{-s}}{(\alpha_{1} + 1)(\alpha_{2} + 1)} \sum_{i=1}^{2} F\left(s, \alpha_{i} + 1; \alpha_{i} + 2; -\frac{a}{b}\right)$$

$$-\frac{b^{-s}}{(\alpha_{1} + 1)(\alpha_{2} + 1)} F\left(s, \alpha_{1} + \alpha_{2} + 2; \alpha_{1} + \alpha_{2} + 3; -\frac{a}{b}\right)$$

$$+b^{-s} \int_{0}^{1} t_{1}^{\alpha_{1}} F\left(s, s - \alpha_{2} - 1; s - \alpha_{2}; -\frac{a}{b}t_{1}\right) dt_{1}.$$

If we continue with the described procedure for the integrals

$$I_{21} = \int_{1}^{\infty} t_{1}^{\alpha_{1}} \left(\int_{0}^{1} \frac{t_{2}^{\alpha_{2}}}{(at_{2} + bt_{1})^{s}} dt_{2} \right) dt_{1}$$

and

$$I_{22} = \int_{1}^{\infty} t_{1}^{\alpha_{1}} \left(\int_{1}^{\infty} \frac{t_{2}^{\alpha_{2}}}{(a + b \max\{t_{1}, t_{2}\})^{s}} dt_{2} \right) dt_{1},$$

such that $I_{21} + I_{22} = I_2$, we obtain the equality (2.1) and the proof is completed.

3. Main results

In what follows we suppose that $K(x_1, \ldots, x_n)$ is nonnegative measurable homogeneous function of degree -s, s > 0. To obtain the main results we define the function $k(\alpha_1, \ldots, \alpha_{n-1})$ by:

$$k(\alpha_1, \dots, \alpha_{n-1}) := \int_{(0,\infty)^{n-1}} K(1, t_1, \dots, t_{n-1}) t_1^{\alpha_1} \cdots t_{n-1}^{\alpha_{n-1}} dt_1 \cdots dt_{n-1}, \qquad (3.1)$$

where we suppose that $k(\alpha_1, \ldots, \alpha_{n-1}) < \infty$ for $\alpha_1, \ldots, \alpha_{n-1} > -1$ and $\alpha_1 + \cdots + \alpha_{n-1} + n < s+1$. Note that the function $k(\alpha_1, \alpha_2)$ from Lemma 2.3 satisfies these conditions.

Due to technical reasons, we introduce real parameters A_{ij} , i, j = 1, 2, ..., k satisfying

$$\sum_{i=1}^{n} A_{ij} = 0, \quad j = 1, 2, \dots, n.$$
(3.2)

We also define

$$\alpha_i = \sum_{j=1}^n A_{ij}, \quad i = 1, 2, \dots, n.$$
 (3.3)

Main results will be based on the following equivalent inequalities proven in [4] with the real parameters A_{ij} , i, j = 1, ..., n, and α_i , i = 1, ..., n, satisfying (3.2) and (3.3). Let $p_1, ..., p_n$ be conjugate parameters such that $p_i > 1$, i = 1, ..., n, and $f_i : (0, \infty) \to \mathbb{R}$ non-negative functions such and $0 < \int_0^\infty x^{n-s-1+p_i\alpha_i} f_i^{p_i}(x) dx < \infty$, i = 1, ..., n. Then the following inequalities hold and are equivalent

$$\int_{(0,\infty)^n} K(x_1, \dots, x_n) \prod_{i=1}^n f_i(x_i) dx_1 \cdots dx_n$$

$$< L \prod_{i=1}^n \left(\int_0^\infty x_i^{n-s-1+p_i\alpha_i} f_i^{p_i}(x_i) dx_i \right)^{\frac{1}{p_i}}$$
(3.4)

and

$$\int_{0}^{\infty} x_{n}^{(1-q)(n-1-s)-q\alpha_{n}} \left(\int_{(0,\infty)^{n-1}} K(x_{1},\ldots,x_{n}) \times \prod_{i=1}^{n-1} f_{i}(x_{i}) dx_{1} \cdots dx_{n-1} \right)^{q} dx_{n}
\times L^{q} \prod_{i=1}^{n-1} \left(\int_{0}^{\infty} x_{i}^{n-1-s+p_{i}\alpha_{i}} f_{i}^{p_{i}}(x_{i}) dx_{i} \right)^{\frac{q}{p_{i}}}, \quad (3.5)$$

where $\frac{1}{q} = \sum_{i=1}^{n-1} \frac{1}{p_i}$ and

$$L = k(p_1 A_{12}, \dots, p_1 A_{1n})^{\frac{1}{p_1}} \cdot k(s - n - p_2(\alpha_2 - A_{22}), p_2 A_{23}, \dots, p_2 A_{2n})^{\frac{1}{p_2}}$$
$$\cdots k(p_n A_{n2}, \dots, p_n A_{n,n-1}, s - n - p_n(\alpha_n - A_{nn}))^{\frac{1}{p_n}},$$

and $p_i A_{ij} > -1$, $i \neq j$, $p_i (A_{ii} - \alpha_i) > n - s - 1$.

Besides the approach to the study of Hardy–Hilbert's inequalities presented in this paper, for which inequalities (3.4) and (3.5) are typical results, it should be mentioned that there are numerous papers which study Hardy-type operators with general kernel on weighted Lebesgue spaces. Even more, necessary and sufficient conditions are given such that inequality analogous to (3.5) holds. An interested reader should consult books [3] and [2]. Our approach is to study kernels for which we can find the best possible constant as in the case of the classical Hilbert's inequality.

In this section, we consider the homogeneous kernels $K:(0,\infty)^n\to\mathbb{R}$ of degree -s, which satisfy the following condition for every $i=2,\ldots,n$:

$$K(1, t_2, \dots, t_i, \dots, t_n) \le CK(1, t_2, \dots, 0, \dots, t_n),$$
 (3.6)
 $0 \le t_i \le 1, \ t_j \ge 0, \ j \ne i,$

for some C > 0. Also, to obtain a case of the best possible inequality in (3.4) and (3.5) it is natural to impose the following conditions on the parameters A_{ij} :

$$p_j A_{ji} = s - n - p_i(\alpha_i - A_{ii}), i, j = 1, 2, \dots, n, i \neq j,$$

 $p_i A_{ik} = p_j A_{jk}, k \neq i, j.$ (3.7)

It is easy to see that the parameters A_{ij} , i, j = 1, ..., n, defined by

$$A_{ij} = \frac{s - p_j}{p_i p_j}, i \neq j, \text{ and } A_{ii} = \frac{(s - p_i)(1 - p_i)}{p_i^2},$$
 (3.8)

satisfy the conditions (3.7).

We proved the following result (see [4]): if the parameters A_{ij} , i, j = 1, ..., n, satisfy condition (3.7) and the kernels $K(x_1, ..., x_n)$ satisfy condition (3.6), then the constants $L = k(p_1 A_{12}, ..., p_1 A_{1n})$ and L^q are the best possible in the inequalities (3.4) and (3.5).

Now, set the parameters A_{ij} defined by (3.8) in the inequalities (3.4) and (3.5). By using (3.8) we have $n-1-s+p_i\alpha_i=p_i-s-1$ and $(1-q)(n-1-s)-q\alpha_n=\frac{s}{p_n-1}-1$. In this way we proved the following theorem:

Theorem 3.1. Let $n \geq 2$ be an integer and let p_1, \ldots, p_n be conjugate parameters such that $p_i > 1$, $i = 1, \ldots, n$ and let $\frac{1}{q} = \sum_{i=1}^{n-1} \frac{1}{p_i}$. Let $K : (0, \infty)^n \to \mathbb{R}$ be nonnegative measurable homogeneous function of degree -s, s > 0, which satisfies condition (3.6). If $f_i : (0, \infty) \to \mathbb{R}$, $i = 1, \ldots, n$ are nonnegative measurable functions satisfying (1.1), then the following inequalities hold and are equivalent

$$\int_{(0,\infty)^n} K(x_1, \dots, x_n) \prod_{i=1}^n f_i(x_i) dx_1 \cdots dx_n$$

$$< L \prod_{i=1}^n \left(\int_0^\infty x_i^{p_i - s - 1} f_i^{p_i}(x_i) dx_i \right)^{\frac{1}{p_i}}$$
(3.9)

and

$$\int_{0}^{\infty} x_{n}^{\frac{s}{p_{n}-1}-1} \left(\int_{(0,\infty)^{n-1}} K(x_{1},\ldots,x_{n}) \prod_{i=1}^{n-1} f_{i}(x_{i}) dx_{1} \cdots dx_{n-1} \right)^{q} dx_{n}
< L^{q} \prod_{i=1}^{n-1} \left(\int_{0}^{\infty} x_{i}^{p_{i}-s-1} f_{i}^{p_{i}}(x_{i}) dx_{i} \right)^{\frac{q}{p_{i}}},$$
(3.10)

where the constants $L = k\left(\frac{s-p_2}{p_2}, \ldots, \frac{s-p_n}{p_n}\right)$ and L^q are the best possible in the inequalities (3.9) and (3.10).

Remark 3.2. Note that the kernel $K(x_1, \ldots, x_n) = (x_1 + \ldots + x_n)^{-s}$ is homogeneous function of degree -s which satisfies condition (3.6). In this case using Lemma 2.1 we have $L = k\left(\frac{s-p_2}{p_2}, \ldots, \frac{s-p_n}{p_n}\right) = \frac{1}{\Gamma(s)} \prod_{i=1}^n \Gamma\left(\frac{s}{p_i}\right)$. Hence, Theorem 3.1 can be seen as generalization of Theorem A.

Remark 3.3. Setting n = 2, $K(x,y) = (a \min\{x,y\} + b \max\{x,y\})^{-1}$, p = q = 2 in Theorem 3.1, we obtain Theorem B with the best possible constant D(a,b) = k(-1/2) = 4/bF(1,1/2;3/2;-a/b). For each choice of the parameters a, b we compute the best possible constant D(a,b):

(i)
$$a = b = 1$$
, $D(1, 1) = \pi$, as in [9],

(ii)
$$a = 0$$
, $b = 1$, $D(0, 1) = 4$, as in [9],

(iii)
$$a = 1, b = 2, D(1, 2) = 2\sqrt{2} \arctan \frac{1}{\sqrt{2}}$$

(iv)
$$a = 1, b = 3, D(1,3) = \frac{2\pi}{3\sqrt{3}},$$

(v)
$$a = 2, b = 1, D(2,1) = 2\sqrt{2} \arctan \sqrt{2}$$
.

We proceed with some special homogeneous functions. Since the function $K(x_1, \ldots, x_n) = \left(\sum_{i=1}^n x_i^{s(\lambda-1)}\right) / \left(\sum_{i=1}^n x_i^{\lambda}\right)^s$, $\lambda > 1$, is homogeneous of degree -s, satisfying the condition (3.6), by using Theorem 3.1 we obtain:

Corollary 3.4. Let $n \geq 2$ be an integer and let p_1, \ldots, p_n be conjugate parameters such that $p_i > 1$, $i = 1, \ldots, n$ and let $\frac{1}{q} = \sum_{i=1}^{n-1} \frac{1}{p_i}$. If $f_i : (0, \infty) \to \mathbb{R}$, $i = 1, \ldots, n$ are nonnegative measurable functions satisfying (1.1), then the following inequalities hold and are equivalent

$$\int_{(0,\infty)^n} \frac{\sum_{i=1}^n x_i^{s(\lambda-1)}}{\left(\sum_{i=1}^n x_i^{\lambda}\right)^s} \prod_{i=1}^n f_i(x_i) dx_1 \dots dx_n
< L_1 \prod_{i=1}^n \left(\int_0^\infty x_i^{p_i - s - 1} f_i^{p_i}(x_i) dx_i \right)^{\frac{1}{p_i}}$$
(3.11)

and

$$\left[\int_{0}^{\infty} x_{n}^{\frac{s}{p_{n}-1}-1} \left(\int_{(0,\infty)^{n-1}} \frac{\sum_{i=1}^{n} x_{i}^{s(\lambda-1)}}{\left(\sum_{i=1}^{n} x_{i}^{\lambda}\right)^{s}} \times \prod_{i=1}^{n-1} f_{i}(x_{i}) dx_{1} \cdots dx_{n-1} \right)^{q} dx_{n} \right]^{\frac{1}{q}} \\
\times \prod_{i=1}^{n-1} \left(\int_{0}^{\infty} x_{i}^{p_{i}-s-1} f_{i}^{p_{i}}(x_{i}) dx_{i} \right)^{\frac{1}{p_{i}}}, \tag{3.12}$$

where the constant

$$L_1 = \frac{1}{\Gamma(s)\lambda^{n-1}} \sum_{j=1}^n \left[\left(\prod_{i=1, i \neq j}^n \Gamma\left(\frac{s}{p_i \lambda}\right) \right) \cdot \Gamma\left(\frac{sp_j(\lambda-1) + s}{p_j \lambda}\right) \right]$$
(3.13)

is the best possible in the inequalities (3.11) and (3.12).

Proof. It is enough to calculate the constant $L_1 = k\left(\frac{s-p_2}{p_2}, \dots, \frac{s-p_n}{p_n}\right)$. Using the definition of the function $k(\alpha_1, \dots, \alpha_{n-1})$ given by (3.1) we have

$$L_{1} = \int_{(0,\infty)^{n-1}} \frac{1 + t_{1}^{s(\lambda-1)} + \dots + t_{n-1}^{s(\lambda-1)}}{\left(1 + \sum_{i=1}^{n-1} t_{i}^{\lambda}\right)^{s}} t_{1}^{\frac{s}{p_{2}}-1} \dots t_{n-1}^{\frac{s}{p_{n}}-1} dt_{1} \dots dt_{n-1} = \sum_{k=0}^{n-1} I_{k},$$
(3.14)

where

$$I_0 = \int_{(0,\infty)^{n-1}} \frac{t_1^{\frac{s}{p_2}-1} \dots t_{n-1}^{\frac{s}{p_n}-1}}{\left(1 + \sum_{i=1}^{n-1} t_i^{\lambda}\right)^s} dt_1 \dots dt_{n-1}$$

and

$$I_k = \int_{(0,\infty)^{n-1}} \frac{t_1^{\frac{s}{p_2}-1} \dots t_k^{\frac{s(\lambda-1)+\frac{s}{p_{k+1}}-1}} \dots t_n^{\frac{s}{p_n}-1}}{\left(1+\sum_{i=1}^{n-1} t_i^{\lambda}\right)^s} dt_1 \dots dt_{n-1}, \text{ for } k = 1, \dots, n-1.$$

By using Lemma 2.2 we get

$$I_0 = \frac{1}{\Gamma(s)\lambda^{n-1}} \left(\prod_{i=2}^n \Gamma\left(\frac{s}{p_i \lambda}\right) \right) \cdot \Gamma\left(\frac{sp_1(\lambda-1) + s}{p_1 \lambda}\right),$$

and similarly

$$I_{k} = \frac{1}{\Gamma(s)\lambda^{n-1}} \left(\prod_{i=1}^{n} \Gamma\left(\frac{s}{p_{i}\lambda}\right) \right) \cdot \Gamma\left(\frac{sp_{k+1}(\lambda-1) + s}{p_{k+1}\lambda}\right),$$

for k = 1, ..., n - 1. Now, from (3.14) we get (3.13). \square Similarly, for the homogeneous function of degree -s, $K(x_1, x_2, x_3) = (a \min\{x_1, x_2, x_3\} + b \max\{x_1, x_2, x_3\})^{-s}$, $a \ge 0$, b > 0, which satisfies condition (3.6), we have:

Corollary 3.5. Let p_1 , p_2 , p_3 be conjugate parameters such that $p_i > 1$, i = 1, 2, 3 and let $\frac{1}{q} = \frac{1}{p_1} + \frac{1}{p_2}$. If $f_i : (0, \infty) \to \mathbb{R}$, i = 1, 2, 3 are nonnegative measurable functions satisfying (1.1), then the following inequalities hold and are equivalent

$$\int_{(0,\infty)^3} \frac{f_1(x_1)f_2(x_2)f_3(x_3)}{(a\min\{x_1, x_2, x_3\} + b\max\{x_1, x_2, x_3\})^s} dx_1 dx_2 dx_3$$

$$< L_2 \prod_{i=1}^3 \left(\int_0^\infty x_i^{p_i - s - 1} f_i^{p_i}(x_i) dx_i \right)^{\frac{1}{p_i}} \tag{3.15}$$

and

$$\left[\int_{0}^{\infty} x_{3}^{\frac{s}{p_{3}-1}-1} \left(\int_{(0,\infty)^{2}} f_{1}(x_{1}) f_{2}(x_{2}) \right) \times (a \min\{x_{1}, x_{2}, x_{3}\} + b \max\{x_{1}, x_{2}, x_{3}\})^{-s} dx_{1} dx_{2} \right)^{q} dx_{3} \right]^{\frac{1}{q}} \\
< L_{2} \prod_{i=1}^{2} \left(\int_{0}^{\infty} x_{i}^{p_{i}-s-1} f_{i}^{p_{i}}(x_{i}) dx_{i} \right)^{\frac{1}{p_{i}}}, \tag{3.16}$$

where the constant

$$L_{2} = \frac{p_{2}p_{3}}{b^{s}s^{2}} \sum_{i=2}^{3} F\left(s, \frac{s}{p_{i}}; \frac{s}{p_{i}} + 1; -\frac{a}{b}\right)$$

$$-\frac{p_{2}p_{3}}{b^{s}s^{2}} F\left(s, \frac{s}{p_{2}} + \frac{s}{p_{3}}; \frac{s}{p_{2}} + \frac{s}{p_{3}} + 1; -\frac{a}{b}\right)$$

$$+ b^{-s} \sum_{i=2}^{3} \left(\int_{0}^{1} t^{\frac{s}{p_{i}} - 1} F\left(s, \frac{s}{p_{1}} + \frac{s}{p_{i}}; \frac{s}{p_{1}} + \frac{s}{p_{i}} + 1; -\frac{a}{b}t\right) dt\right)$$

$$+ \frac{p_{1}(p_{2} + p_{3})}{b^{s}s(s + p_{1})} F\left(s, \frac{s}{p_{1}}; \frac{s}{p_{1}} + 1; -\frac{a}{b}\right)$$

$$-\frac{p_{2}p_{3}}{b^{s}s^{2}} \sum_{i=2}^{3} \frac{1}{p_{i} - 1} F\left(s, s - \frac{s}{p_{i}}; s - \frac{s}{p_{i}} + 1; -\frac{a}{b}\right)$$

$$(3.17)$$

is the best possible in the inequalities (3.15) and (3.16). In particular, for s = 1, $p_1 = p_2 = p_3 = 3$ and a = b = 1, we obtain

$$L_2 = \frac{55}{2} \log 2 - \frac{3\sqrt{3}}{2} \pi.$$

Proof. The proof follows directly from Theorem 3.1 setting the kernel $K(x_1, x_2, x_3) = (a \min\{x_1, x_2, x_3\} + b \max\{x_1, x_2, x_3\})^{-s}$. Namely, in that case as in Corollary 3.4, it is enough to calculate the constant $L_2 = k\left(\frac{s-p_2}{p_2}, \frac{s-p_3}{p_3}\right)$. For this purpose, by using Lemma 2.3 we get (3.17).

Remark 3.6. Setting the kernel $K(x_1, x_2, x_3) = (x_1 + x_2 + x_3 - \min\{x_1, x_2, x_3\})^{-s}$, s > 0, in Theorem 3.1, in such a way as in Corollary 3.5 we obtain the best

possible constant

$$L_{3} = k \left(\frac{s - p_{2}}{p_{2}}, \frac{s - p_{3}}{p_{3}} \right)$$

$$= \frac{p_{2} + p_{3}}{s} F\left(s, \frac{s}{p_{2}} + \frac{s}{p_{3}}; \frac{s}{p_{2}} + \frac{s}{p_{3}} + 1; -1 \right)$$

$$+ \frac{1}{s} \sum_{i=2}^{3} p_{i} F\left(s, \frac{s}{p_{1}} + \frac{s}{p_{i}}; \frac{s}{p_{1}} + \frac{s}{p_{i}} + 1; -1 \right)$$

$$+ \frac{p_{1}(p_{2} + p_{3})}{s^{2}} F\left(s, \frac{s}{p_{1}}; \frac{s}{p_{1}} + 1; -1 \right)$$

$$- \frac{p_{2}p_{3}}{s^{2}} \sum_{i=2}^{3} \frac{1}{p_{i} - 1} F\left(s, s - \frac{s}{p_{i}}; s - \frac{s}{p_{i}} + 1; -1 \right).$$

Similarly as in Corollary 3.5, for s=1 and $p_1=p_2=p_3=3$ we obtain $L_3=\frac{10\sqrt{3}}{3}\pi+\log 4$.

Acknowledgement. This research was supported by the Croatian Ministry of Science, Education, and Sports, under Research Grants 058–1170889–1050.

References

- 1. G.H. Hardy, J.E. Littlewood and G. Pólya, *Inequalities*, 2nd edition, Cambridge University Press, Cambridge, 1967.
- 2. A. Kufner and L.E. Persson, Weighted Inequalities of Hardy Type, World Scientific Publishing Co, Singapore/New Jersey/London/Hong Kong, 2003.
- 3. A. Meshki, V. Kokilashvili and L.E. Persson, Weighted Norm Inequalities for Integral Transforms With Product Kernels, Nova Scientific Publishers, Springer, New York, 2009.
- 4. I. Perić and P. Vuković, *Hardy–Hilbert's inequality with a general homogeneous kernel*, Math. Inequal. Appl. **12** (2009), no. 3, 12–41.
- 5. T.M. Rassias and B. Yang, On the way of weight coefficient and research for the Hilbert-type inequalities, Math. Inequal. Appl. **6(2)** (2003), 625–658.
- 6. W.T. Sulaiman, A study on some new types of Hardy-Hilbert's integral inequalities, Banach J. Math. Anal. 2 (2008), no. 1, 16–20.
- 7. B. Yang, On a new multiple extension of Hilbert's integral inequality, J. Inequal. Pure Appl. Math. 6 (2005), no. 2, Article 39, 8 pp.
- 8. B. Yang and Th.M. Rassias, On a Hilbert-type integral inequality in the subinterval and its operator expression, Banach J. Math. Anal. 4 (2010), no. 2, 100–110.
- 9. Y. Li, Z. Wang and B. He, *Hilbert's type linear operator and some extensions of Hilbert's inequality* J. Inequal. Appl. **2007**, Art. ID 82138, 10 pp.
- ¹ Faculty of Food Technology and Biotechnology, University of Zagreb, Pierottijeva 6, 10000 Zagreb, Croatia.

E-mail address: iperic@pbf.hr

 2 Faculty of Teacher Education, University of Zagreb, Ante Starčevića 55, 40000 Čakovec, Croatia.

E-mail address: predrag.vukovic@vus-ck.hr